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Al 309,000
01 Al&H| 618,000 0 618,000
OZdZE B B3 618,000
= 309,000
Al 309,000
LOISRAlE 2 2,511,848 3,022,588 510,740
= 201,473
= 341,126
Al 1,969,249
A2 Witgtyl & =24 X 805,893 814,017 N8,124
= 201,473
= 302,210
Al 302,210
301 et A= 805,893 814,017 N8,124
= 201,473
= 302,210
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01 M| EXEE 4562 805,893 814,017 N8,124
OZ2Y 2=2H| (42000 4 ) 133,893
2 33,473
& 50,210
Al 50,210
OZRY SHIILEHl(4200H4)
300,000 500 & *4200H 2~ 630,000
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OAR2Y Wl (4200H2)
50,000 200 & 42004 &~ 42,000
= 10,500
& 15,750
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dze 2 1,370,540 1,334,400 36, 140
o=t 38,916
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301 LBt A= 1,370,540 1,334,400 36, 140
& 38,916
Al 1,331,624
01 Al E & A 462 1,370,540 1,334,400 36, 140
OZ2Y 2 HI(42000 2) 1,008,000
& 38,916
Al 969,084
OZ2Y Z2702H| (42000 )
800,000 *4200H 2 336,000
OZ=2Y MaEs I (420044 ) 26,540
LolsXg 2z 10,966 10,966 0
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SN ALSI S X
Ha: CQSK(AME=X /0 - BAE)
ol LOIoit ME X 25 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OF&sZ DA HPW=H 500,000 x20H 10,000
< 2,500
Al 7,500
307 21201 A 91,800 90,300 1,500
< 4,310
Al 87,490
11T M3 SXAISEEX 91,800 90,300 1,500
orolsr 24 16,000
OZ2Y T8 2A2|A 27,500
OZdeYg Tz 2Z(tHet=23l) 15,000
OZ=2Y =3 3lH u=s 5,000
oauad M=sUal 3,500
OLQlolgy W= 6,400
= 2,560
Al 3,840
OWZE sts¢ 2,400
< 600
Al 1,800
Ol &8 16,000
< 1,150
Al 14,850
Lolol & JE ™AL 22,000 22,000 0
307 glz2tol & 22,000 22,000 0
04 DI2HHALALSE E X 22,000 22,000 0
OLQoddiA & JIEA 22,000
LA IR 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
04 QIZFHALAIH E = 8,000 8,000 0
OZAAH IR 8,000
LEME HEY 25 58,750,865 48,978,134 9,772,731
= 47,519,749
J| 15,560
= 2,153,954
Al 9,061,602
x3z 51,355,968 42,660,394 8,695,574
= 46,220,951
< 1,027,132
Al 4,107,885
301 et A3 51,355,968 42,660,394 8,695,574
= 46,220,951
< 1,027,132
Al 4,107,885
01 AR 2Z A 53 51,355,968 42,660,394 8,695,574
OJI=4d 3 51,355,968




2N
X ZH -
L= B
el

NEEM
QI =R (ABI= /0l - HAE)
LMY AFY S

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

= 46,220,951
& 1,027,132
Al 4,107,885

LosgllEaNdg A 791,044 811,546 N 20,502
= 529,371
= 68,062
Al 193,611

307 2Iz2t0| A 791,044 811,546 N 20,502
= 529,371
o= 68,062
Al 193,611

1A S X AIE E X 791,044 811,546 N 20,502
OkolsglI2AM A 791,044
= 529,371
=} 68,062
Al 193,611

Lossss A A 640,302 502,066 138,236
= 448 211
= 57,627
Al 134,464

307 QI2t0| & 640,302 502,066 138,236
= 448 211
& 57,627
Al 134,464

05 QIZtRES 640,302 502,066 138,236
OkolsEzsaAHIA(HIRHA) 640,302
= 448,211
= 57,627
Al 134,464

SO JDFAFA HI A 1,737 3,542 A 1,805
= 1,216
= 156
Al 365

307 212t0| & 1,737 3,542 A 1,805
= 1,216
o=t 156
Al 365

05 QIZ2tRE 2 1,737 3,542 A 1,805
OSAHLQl S| IJFA 1,737
= 1,216
= 156
Al 365

LOSsIAEs+2 A MAZ20 400,000 400,000 0
= 320,000
& 40,000
Al 40,000

307 gizto| A 400,000 400,000 0




SN ALSI S X
Ha: CQSK(AME=X /0 - BAE)
Sl TIME AFNY RS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 320,000
< 40,000
Al 40,000
11T MISXAS EX 400,000 400,000 0
OL=XAE =23k HAHSH 400,000
= 320,000
< 40,000
Al 40,000
e MEotY 231,788 235,942 24,154
= 110,178
Al 121,610
201 et 1,680 1,680 0
01 At 2teltl 1,680 1,680 0
o2g+g 1,680
—JIxd3z 01YaE Ao 28*70,000& x43 560
—3JIeY ZHENY 4% 70,0003 *33] 840
—Lo=EXIIz 2842 4%%70,000& 13 280
206 = Hl 104,558 110,212 N5,654
< 45,423
Al 59,135
01 MHZ 4l 104,558 110,212 A5,654
O=Haletd X2 0| 92,558
< 37,023
Al 55,535
okel 832X 12,000
< 8,400
Al 3,600
301 et d = 92,550 94,050 A 1,500
= 31,755
Al 60,795
01 MEIBZE 06z 92,550 94,050 A 1,500
O IOt E MICH 1,000 %60, 000& 60,000
< 18,000
Al 42,000
Okolzzdr &t 2,600
OSHEO BEMHIIE(F.2AUIS) 10,300
OMAS Hz2d d=ae 2D 19,650
< 13,755
Al 5,895
402 RI2EX201 A 33,000 30,000 3,000
< 33,000
02 QI EAISEZ (OIS ) 33,000 30,000 3,000
OSsAHLo SSHEHs #=5 15,000
< 15,000
Oz 28 F=AHEZNA 18,000




SN ALSI S X
HH: oS (AESX/ o - HAH)
Sl LEME ONY S (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| < 18,000
MOt Cl=XAE 29 2,020,000 1,600,000 420,000
< 202,000
Al 1,818,000
301 gtE L= 2,020,000 1,600,000 420,000
= 202,000
Al 1,818,000
01 MI2EZE 6= 2,020,000 1,600,000 420,000
OMIt Lel=XAIE 22l 2,020,000
< 202,000
Al 1,818,000
Lo=RANER2Y 2,928,680 2,384,101 544,579
< 622,840
Al 2,305,840
301 L2 LS 2,551,680 1,944,101 607,579
< 434,340
Al 2,117,340
01 M3IBZE 063 2,550,000 1,943, 141 606,859
OLQ=EXAE 22| 2,550,000
< 433,500
Al 2,116,500
1M1IIEBESS 1,680 960 720
OLQsXAIL AAXZO0 ESHI(7Y)
20,0003 +x7H+120H & 1,680
< 840
Al 840
307 2201 A 377,000 440,000 263,000
< 188,500
Al 188,500
11 AL S RAEE = 377,000 440,000 A 63,000
OLU=EXANE SAX =& 377,000
< 188,500
Al 188,500
HasSREa4 350,226 349,251 975
< 18,179
Al 332,047
307 izl & 350,226 349,251 975
< 18,179
Al 332,047
05 RIZHRI &t 3 187,200 220,500 A 33,300
ORES A (AAHE) 4,000 260 <180 187,200
11T AL SXAIEE = 163,026 128,751 34,275
OREZ4 ZFRAY(ZHAMZND) 114,705
— &= R A 2,750 x260 140 100,100
< 18,179
Al 81,921




2 ASI=E XD
= Lo=sl(Atals =)
o LEME orED oiEa)
- !
M-8 a9l (3) - 2N - BES e HIRE 2
-2g 100, 100, 000 & *5% 5,005
— X2l 800,000& x12& 1Y 9,600
ORz=a 33,075
-8 3,500 *50 <180 31,500
-29g 3,500& 508 180 *5% 1,575
OEI=3=1 (Jt==X2) 15,246
-F.7 2,750 48 «110H 14,520
- 224 14,520,000 & *5% 726
sHke 3¢ BlA 2GR (2H Saldl 3,640 4,196 A 556
L AL HE
| 1,820
S 910
Al 910
307 2Iztol ™ 3,640 4,196 A 556
| 1,820
< 910
Al 910
11T MIZXAEE 3,640 4,196 A 556
Ok NHIA 2 (2H S4
b ¥ 3,640
| 1,820
< 910
Al 910
SHke 22¢ XA (& 2g4l) 3,420 6,984 A 3,564
| 1,710
S 855
Al 855
307 2Iztol ™ 3,420 6,984 A 3,564
| 1,710
< 855
Al 855
11 AtS = X 3,420 6,984 N 3,564
OsHE MElA 20122
gl) 3,420
| 1,710
= 855
Al 855
SHke 222 2 XA (erdl) 24,060 20,112 3,948
| 12,030
< 6,015
Al 6,015
307 2Iztol ™ 24,060 20,112 3,948
| 12,030
< 6,015
Al 6,015
11 ALE = X 24,060 20,112 3,948
O=sHE MEIA 2g(el2dl) 24,060




M AR =X
M Lol=X| (A=K /0 - BAE)
Celr LEME OEY 23 (el @2)
L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Il 12,030
< 6,015
Al 6,015
HE=X(M=EX/E] - IIFLAHY) 2,192,026 2,346,038 A 154,012
= 337,515
Xl 101,464
| 548,725
= 258,194
Al 946,128
HA =X & 2,192,026 2,346,038 A 154,012
= 337,515
Xl 101,464
| 548,725
< 258,194
Al 946,128
Ots0d otd XY ol 29 13,000 13,240 A 240
| 3,500
< 1,750
Al 7,750
307 2Iz2tol ™ 13,000 13,240 A 240
J| 3,500
= 1,750
Al 7,750
11 ALS S RAEE = 13,000 13,240 A 240
Oots , Hygetd NGty =299 13,000
| 3,500
< 1,750
Al 7,750
Otsetd XIS HMZE X2 1,800 2,440 A 640
| 900
Al 900
307 2Izt0l A 1,800 2,440 A 640
| 900
Al 900
11T AISISAAISEE = 1,800 2,440 A 640
OOtS A XI & M & (30 4 ) 1,800
| 900
Al 900
SOH0H. 0= 22 2 ol 14,420 14,500 A 80
< 1,800
Al 12,620
201 Let24d] 5,920 6,000 A 80
01 At 2teltl 5,920 6,000 A 80
Ogt=gH| 2,000
—HEZH0LANE 22 WA 2,000
ozg=¢ 3,920




2N
X ZH -
L= B

el

Akl = X1 ot
HASX(MIEX/ES - II=ELAHA)
Hd=XEH

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—=soF 2o 9ds 2A4g
70,0003 x14H «43| 3,920
301 g2 4= 2,500 2,500 0
01 A3l EE H =56l = 500 500 0
O8 JI¥ZHIo A O™ =& S 500
09 HALAHIEA S 2,000 2,000 0
O0&d=0lY HH ¥ ws &4(200Y) 2,000
307 gl2tol & 6,000 6,000 0
= 1,800
Al 4,200
02 It M AHE L 6,000 6,000 0
OO, Gi&Z= 2= (260H2) 6,000
= 1,800
Al 4,200
HIIE dgL 29 86,800 81,800 5,000
< 15,900
Al 70,900
307 glz2tol & 86,800 81,800 5,000
< 15,900
Al 70,900
10 M SXNANEEHE2IHE=x 79,000 74,000 5,000
OXIt=EAE A 2L (1HA) 79,000
< 12,000
Al 67,000
11 AMSSIAIEE S 7,800 7,800 0
OAN&E SAX =<(3%) 7,800
< 3,900
Al 3,900
ChE3NEXNJHEH 29 42,100 39,400 2,700
< 16,100
Al 26,000
307 glz2tol & 42,100 39,400 2,700
S 16,100
Al 26,000
11 AISI S XA E = 42,100 39,400 2,700
OUSSIEXNAHE SAR=(9Y) 23,400
< 11,700
Al 11,700
OURSINEXNHH AESHHE(2Y) 14,700
= 4,400
Al 10,300
OF0IIl=E 0ISUEEHMH (1) 4,000
CEsis d2us AElAXR 131,760 127,800 3,960
| 92,232
< 11,858




©OAEI = X

COHAEX(MEER/EE -0t

bl

Al

o
)
0x

CHEsSAEH

- - _ L3
SN HE -G (3A) - NBAY - B2 ol &k o ﬁlf&
Al 27,670
307 2iz2to| A 131,760 127,800 ,960
J| 92,232
= 11,858
Al 27,670
11T AISIEXAIEEX 131,760 127,800 ,960
OURIN=EXNAMY S22 (1HA) 131,760
J| 92,232
& 11,858
Al 27,670
2E0|0X S. HENHEA KR 22,224 17,232 ;992
J| 15,557
= 2,000
Al 4,667
307 QI2t0| ™ 22,224 17,232 ;992
J| 15,557
= 2,000
Al 4,667
11 A EXAIEEX 22,224 17,232 ,992
OZE0I8X & - 1A AMHIA(T 22,224
J| 15,557
= 2,000
Al 4,667
ChE3Is g ogde X 30,129 29,456 673
J| 21,090
= 2,712
Al 6,327
307 2Iz2t0| A 30,129 29,456 673
Jl 21,090
o 2,712
Al 6,327
11T A EXAIEEX 30,129 29,456 673
OUR3IIE OlsdAYE Y 30,129
J| 21,090
= 2,712
Al 6,327
ChEsSJIE 01890 JIE&8d =4 24,224 16,636 ,588
J| 16,957
= 2,180
Al 5,087
307 gizto| A 24,224 16,636 ,588
J| 16,957
= 2,180
Al 5,087
11T A EXAIEEX 24,224 16,636 588
OUE3IIE OIS IIE S#EXE 24,224
J| 16,957




2N
X ZH -
L= B

el

Akl = X1 ot
HE=X(AME=X/ES -
Hd=XEH

I=ELNY)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 2,180
Al 5,087

St=0HuUE 29 22,162 22,162 0
J| 15,514
= 1,994
Al 4,654

307 2Iz2t0| & 22,162 22,162 0
Dl 15,514
= 1,994
Al 4,654

11T A EXAIEEX 22,162 22,162 0]
Ost20us 29 (1HA) 22,162
J| 15,514
o=} 1,994
Al 4,654

2SS0IUsSHIH 40,000 40,000 0
J| 28,000
& 6,000
Al 6,000

307 QI2t0| ™ 40,000 40,000 0
J| 28,000
& 6,000
Al 6,000

11T A EXAIEEX 40,000 40,000 0
O2SS0tLsH(RCI0I0IIISE ) A (19HA) 40,000
J| 28,000
== 6,000
Al 6,000

A28 L O23IIE NJHEH 29 237,460 222,046 15,414
Dl 117,670
o= 35,301
Al 84,489

307 2Iz2t0| & 237,460 222,046 15,414
J| 117,670
o= 35,301
Al 84,489

05 QIZ2tREF 2 237,460 222,046 15,414
OUR3IN=EXNIHE 29 (10HA) 237,460
J| 117,670
& 35,301
Al 84,489

A0 U238 & 73,000 74,000 A 1,000
= 24,100
Al 48,900

201 LBt Y| 42,000 42,000 0
= 12,600
Al 29,400




AN ALEI =X

M 8 =sX(A=EX/E] - I EL0HY)
SEECP D =L (el @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 42,000 42,000 0
ozg=¢ 42,000
—Z2E0/2X FHAULA BE2L(20Y) 42,000
= 12,600
Al 29,400
301 gt L= 6,000 7,000 21,000
01 A3l EE H 56l = 5,000 5,000 0
OUMZE02X JI&=xS8I(20H) 5,000
09 HALAHIEA S 1,000 2,000 21,000
OW&EZE0UR ABNEEHA(10Y) 1,000
307 gl2tol& 25,000 25,000 0
= 11,500
Al 13,500
11 AMISIAIEE XS 25,000 25,000 0
OWMZE0I12R FHHUEZ(100F) 5,000
= 1,500
Al 3,500
OUR2IIEXNJAEEH SxAIH 20,000
= 10,000
Al 10,000
A2 OIS KMy S ML 40,000 50,000 210,000
J| 40,000
307 21201 A 40,000 50,000 A 10,000
J| 40,000
11 AMSSIAIEE XS 40,000 50,000 210,000
OAZIHE UE3 XNJHMH S AMHA 40,000
| 40,000
NAHSMEAAN S S (CIOICHY AMATIe &HE) 144,057 400,000 A 255,943
Xl 101,464
< 7,000
Al 35,593
101 14 Hl 17,227 0 17,227
04 JIZtHZ22XEES 17,227 0 17,227
OCIOITHA AU RXte| &= 17,227
—Jl=s 60, 240% 220+ 1% 13,253
— FI=g 60,2403 x45 x1H 2,711
— X< 60,240«10 x1H 603
— ZHAY| 3,000 220 «1H 660
307 2Iz2t0l A 126,830 400,000 AN273,170
Xl 101,464
< 7,000
Al 18,366
11T AISISAAISEE = 126,830 400,000 AN273,170




SH: ASI =X D
HE: GH=X(MNESN/2S - HEL0Y)
SR PEEVE-E CER-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OCHOICHA A Tte] & E (290 Z0F) 126,830
101,464

7,000
Al 18,366

=

CtE23tot= stote = 7,000 7,000 0

gIz2tol & 7,000 7,000 0

AMSEE 7,000 7,000 0
b= SHOtY =HI(700%) 7,000

Ol0lIESE XI&AHY 480,623 446,466 34,157
336,436
43,256
100,931

Z W

307 glztol & 240,623 446,466 N 205,843
168,436
21,656
50,531

=z N H

10 ALl SXAIEEE2EHEX 240,623 0 240,623
OO0t0lE=3(19071+) 2gH 240,623

168,436
21,656
50,531

= Hn

308 NHXIEHHMS0I™ 240,000 0 240,000
168,000
21,600
50,400

= 0 W

1037/ 2S0HUSI3L4EHAS AL 240,000 0 240,000
OO0t0l S5 (1900t7) 240,000

168,000
21,600
50,400

= N H

o
il
o

HE A

o
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